JV	Pool #1	COURT 7					
<u>Seed</u>	<u>Team</u>	Set Win	Set Loss	Pts. For	Pts. Against	Pts. Ratio	<u>Finish</u>
1	Alec/Max (Moo-1)	4	2	110	96	1.146	2
2	Nathan/Sam (OC-2)	1	5	85	121	0.702	3
3	Cameron/Cooper (OP-2)	6	0	110	67	1.642	1
4	Gavin/Tiago (TO-4)	1	5	71	124	0.573	4
Time	Match #1 (1 vs 3)	Set 1	Set 2	<u>Ref</u>			
8:00am	Alec/Max (Moo-1)	17	9	2			
	Cameron/Cooper (OP-2)	21	21				
8:40am	Match #2 (2 vs 4)	Set 1	Set 2	<u>Ref</u>	•		
	Nathan/Sam (OC-2)	19	21	1			
	Gavin/Tiago (TO-4)	21	16				
9:20am	Match #3 (1 vs 4)	Set 1	Set 2	<u>Ref</u>	•		
	Alec/Max (Moo-1)	21	21	3	Pool Play Rules		
	Gavin/Tiago (TO-4)	17	12		> 2 sets to 21 (no 3rd set)		
10:00am	Match #4 (2 vs 3)	Set 1	Set 2	<u>Ref</u>	•	> Win by 2, with	25 pt. cap
	Nathan/Sam (OC-2)	10	10	1		> 1st & 2nd place	e pairs go
	Cameron/Cooper (OP-2)	21	21			to the Gold divis	ion
10:40am	Match #5 (3 vs 4)	Set 1	Set 2	<u>Ref</u>	•	> 3rd & 4th place	e pairs go
	Cameron/Cooper (OP-2)	21	21	2		to the Silver divis	sion
	Gavin/Tiago (TO-4)	2	3			> Tie break w/ 2	team is
11:20am	Match #6 (1 vs 2)	Set 1	Set 2	<u>Ref</u>	•	head to head (sets	then pt ratio)
	Alec/Max (Moo-1)	21	21	4		> w/ 3 teams is p	ots. Ratio
	Nathan/Sam (OC-2)	8	17				

JV	<u>Pool #2</u>	COURT 8					
<u>Seed</u>	<u>Team</u>	Set Win	Set Loss	Pts. For	Pts. Against	Pts. Ratio	<u>Finish</u>
1	Blake/Liam (OC-1)	6	0	126	71	1.775	1
2	Elias/Jerod (Ox-1)	4	2	114	84	1.357	2
3	Blake/Tristan (TO-2)	2	4	111	92	1.207	3
4	Ash/Wyland (MB-sel)	0	6	54	126	0.429	4
Time	Match #1 (1 vs 3)	Set 1	Set 2	<u>Ref</u>			
8:00am	Blake/Liam (OC-1)	21	21	2			
	Blake/Tristan (TO-2)	15	11		_		
8:40am	Match #2 (2 vs 4)	Set 1	Set 2	<u>Ref</u>			
	Elias/Jerod (Ox-1)	21	21	1			
	Ash/Wyland (MB-sel)	9	6				
9:20am	Match #3 (1 vs 4)	Set 1	Set 2	<u>Ref</u>			
	Blake/Liam (OC-1)	21	21	3		Pool Play R	<u>ules</u>
	Ash/Wyland (MB-sel)	9	6		> 2 sets to 21 (no 3rd set)		
10:00am	Match #4 (2 vs 3)	Set 1	Set 2	<u>Ref</u>	-	> Win by 2, with	25 pt. cap
	Elias/Jerod (Ox-1)	21	21	1		> 1st & 2nd plac	e pairs go
	Blake/Tristan (TO-2)	12	15		_	to the Gold divis	ion
10:40am	Match #5 (3 vs 4)	Set 1	Set 2	<u>Ref</u>		> 3rd & 4th place	e pairs go
	Blake/Tristan (TO-2)	21	21	2		to the Silver divi	sion
	Ash/Wyland (MB-sel)	13	11		_	> Tie break w/ 2	team is
11:20am	Match #6 (1 vs 2)	Set 1	Set 2	<u>Ref</u>	-	head to head (sets	then pt ratio)
	Blake/Liam (OC-1)	21	21	4		> w/ 3 teams is p	ots. Ratio
	Elias/Jerod (Ox-1)	18	12				

JV	<u>Pool #3</u>	COURT 9					
<u>Seed</u>	<u>Team</u>	Set Win	<u>Set Loss</u>	Pts. For	Pts. Against	Pts. Ratio	<u>Finish</u>
1	Calvin/Oliver (Moo-2)	6	0	126	46	2.739	1
2	Grady/Otis (Bur-1)	2	4	88	107	0.822	2
3	Edgard/Jake (Wes-2)	1	5	58	119	0.487	3
Time	Match #1 (1 vs 3)	Set 1	Set 2	Set 3	<u>Ref</u>		
8:00am	Calvin/Oliver (Moo-2)	21	21	21	2	Pool Play Rules	
	Edgard/Jake (Wes-2)	5	6	3		> 3 sets to 21 (no	matter results)
10:00am	Match #4 (2 vs 3)	Set 1	Set 2	Set 3	<u>Ref</u>	> Win by 2, with	25 pt. cap
	Grady/Otis (Bur-1)	14	21	21	1	> 1st & 2nd plac	e pairs go
	Edgard/Jake (Wes-2)	21	12	11		to the Gold divis	ion
11:20am	Match #6 (1 vs 2)	Set 1	Set 2	Set 3	<u>Ref</u>	> 3rd place pair go	es to Silver div.
	Calvin/Oliver (Moo-2)	21	21	21	3	> Tie break w/ 2	team is
	Grady/Otis (Bur-1)	17	8	7		head to head (sets th	nen pt ratio)
•					-	> w/ 3 teams is p	ots. Ratio

JV	<u>Pool #4</u>	COURT 6						
<u>Seed</u>	<u>Team</u>	Set Win	Set Loss	Pts. For	Pts. Against	Pts. Ratio	<u>Finish</u>	
1	Danny/Jerry (OP-1)	6	0	126	67	1.881	1	
2	Andrew/Evan (Cam-1)	4	2	116	87	1.333	2	
3	CK/Tiger (OC-3)	0	6	109	104	1.048	3	
4	Grady/Hudson (TO-3)	2	4	73	120	0.608	4	
Time	Match #1 (1 vs 3)	Set 1	Set 2	<u>Ref</u>				
8:00am	Danny/Jerry (OP-1)	21	21	2				
	CK/Tiger (OC-3)	11	8		_			
8:40am	Match #2 (2 vs 4)	Set 1	Set 2	<u>Ref</u>				
	Andrew/Evan (Cam-1)	21	21	1				
	Grady/Hudson (TO-3)	8	6		_			
9:20am	Match #3 (1 vs 4)	Set 1	Set 2	<u>Ref</u>				
	Danny/Jerry (OP-1)	21	21	3		Pool Play Rules		
	Grady/Hudson (TO-3)	10	6		> 2 sets to 21 (no 3rd set)			
10:00am	Match #4 (2 vs 3)	Set 1	Set 2	<u>Ref</u>		> Win by 2, with	25 pt. cap	
	Andrew/Evan (Cam-1)	21	21	1		> 1st & 2nd plac	e pairs go	
	CK/Tiger (OC-3)	13	18		_	to the Gold divis	ion	
10:40am	Match #5 (3 vs 4)	Set 1	Set 2	<u>Ref</u>		> 3rd & 4th plac	e pairs go	
	CK/Tiger (OC-3)	20	16	2		to the Silver divi	sion	
	Grady/Hudson (TO-3)	22	21		_	> Tie break w/ 2	team is	
11:20am	Match #6 (1 vs 2)	Set 1	Set 2	<u>Ref</u>		head to head (sets	then pt ratio)	
	Danny/Jerry (OP-1)	21	21	4		> w/ 3 teams is p	ots. Ratio	
	Andrew/Evan (Cam-1)	17	15					

JV	<u>Pool #5</u>	COURT 11					
<u>Seed</u>	<u>Team</u>	Set Win	Set Loss	Pts. For	Pts. Against	Pts. Ratio	<u>Finish</u>
1	Kayden/Tyler (TO-1)	5	1	124	76	1.632	1
2	Dylan/Corey (Wes-1)	3	2	112	103	1.087	2
3	Luke/Samuel (Cam-2)	2	4	119	102	1.167	3
4	Angel/Reiner (Ox-2)	1	5	79	125	0.632	4
Time	Match #1 (1 vs 3)	Set 1	Set 2	<u>Ref</u>	_		
8:00am	Kayden/Tyler (TO-1)	21	21	2			
	Luke/Samuel (Cam-2)	14	14		_		
8:40am	Match #2 (2 vs 4)	Set 1	Set 2	<u>Ref</u>			
	Dylan/Corey (Wes-1)	21	21	1			
	Angel/Reiner (Ox-2)	14	13		_		
9:20am	Match #3 (1 vs 4)	Set 1	Set 2	<u>Ref</u>			
	Kayden/Tyler (TO-1)	21	21	3	Pool Play Rules		
	Angel/Reiner (Ox-2)	10	9		> 2 sets to 21 (no 3rd set)		
10:00am	Match #4 (2 vs 3)	Set 1	Set 2	<u>Ref</u>		> Win by 2, with	25 pt. cap
	Dylan/Corey (Wes-1)	20	21	1		> 1st & 2nd plac	e pairs go
	Luke/Samuel (Cam-2)	22	14		_	to the Gold divis	ion
10:40am	Match #5 (3 vs 4)	Set 1	Set 2	<u>Ref</u>		> 3rd & 4th plac	e pairs go
	Luke/Samuel (Cam-2)	20	21	2		to the Silver divi	sion
	Angel/Reiner (Ox-2)	22	11		_	> Tie break w/ 2	team is
11:20am	Match #6 (1 vs 2)	Set 1	Set 2	<u>Ref</u>	-	head to head (sets	then pt ratio)
	Kayden/Tyler (TO-1)	21	19	4		> w/ 3 teams is p	ots. Ratio
	Dylan/Corey (Wes-1)	8	21				